

Summary of Bids Received

Project: Sunset Avenue Resurfacing
Section: 12-00108-05-RS
Description: Milling and Resurfacing
CPMS Pin: D-00603
Let Date: 12/18/2012

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Peter Baker & Son Company	1349 Rockland Road	Lake Bluff, IL 60044	Bid Bond	\$2,311,530.15	-13.92%	-\$373,795.35
Curran Contracting Company	286 Memorial Court	Crystal Lake, IL 60014	Bid Bond	\$2,318,186.17	-13.67%	-\$367,139.33
J. A. Johnson Paving Company	1025 E. Addison Court	Arlington Heights, IL 60005	Bid Bond	\$2,877,082.76	7.14%	\$191,757.26
Payne & Dolan, Inc.	1700 120th Ave.	Kenosha, WI 53144	Bid Bond	\$2,889,188.38	7.59%	\$203,862.88
Engineer's Estimate				\$2,685,325.50		

Design	_____	IDOT(2)	_____	Contract Bidder	_____	PT then Plan Rack	_____
Finance	_____	Bid Tab File	_____	Resident Eng.	_____	Administrative Assistant	_____
Construction	_____	Project File	_____	Request By Mail	_____	Mgr Capital Programming	_____

Return Bid Tabulation

Project: Sunset Avenue Resurfacing
Section: 12-00108-05-RS
Description: Milling and Resurfacing
CPMS Pin: D-00603
Let Date: 12/18/2012

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Curran Contracting Company		J. A. Johnson Paving Company		Payne & Dolan, Inc.		Peter Baker & Son Company	
					Unit Price	Extd. Price	Unit Price	Extd. Price	Unit Price	Extd. Price	Unit Price	Extd. Price	Unit Price	Extd. Price
1	20800150	TRENCH BACKFILL	280.0	CU YD	\$25.00	\$7,000.00	\$10.00	\$2,800.00	\$1.00	\$280.00	\$50.00	\$14,000.00	\$25.00	\$7,000.00
2	40600100	BITUMINOUS MATERIALS (PRIME COAT)	30,136.0	GAL	\$1.00	\$30,136.00	\$0.01	\$301.36	\$0.01	\$301.36	\$0.01	\$301.36	\$0.01	\$301.36
3	40600300	AGGREGATE (PRIME COAT)	527.0	TON	\$1.00	\$527.00	\$1.00	\$527.00	\$1.00	\$527.00	\$1.00	\$527.00	\$1.00	\$527.00
4	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.0	TON	\$450.00	\$4,500.00	\$467.50	\$4,675.00	\$500.00	\$5,000.00	\$660.00	\$6,600.00	\$100.00	\$1,000.00
5	40600990	TEMPORARY RAMP	1,912.0	SQ YD	\$25.00	\$47,800.00	\$9.40	\$17,972.80	\$20.00	\$38,240.00	\$21.00	\$40,152.00	\$6.00	\$11,472.00
6	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	12,616.0	TON	\$55.00	\$693,880.00	\$56.00	\$706,496.00	\$65.00	\$820,040.00	\$59.30	\$748,128.80	\$51.00	\$643,416.00
7	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	8,576.0	TON	\$62.50	\$536,000.00	\$66.00	\$566,016.00	\$77.00	\$660,352.00	\$67.60	\$579,737.60	\$64.40	\$552,294.40
8	42001300	PROTECTIVE COAT	500.0	SQ YD	\$2.00	\$1,000.00	\$2.00	\$1,000.00	\$1.00	\$500.00	\$1.00	\$500.00	\$2.00	\$1,000.00
9	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	6,414.0	SQ FT	\$6.00	\$38,484.00	\$4.35	\$27,900.90	\$4.00	\$25,656.00	\$5.00	\$32,070.00	\$4.35	\$27,900.90
10	42400800	DETECTABLE WARNINGS	1,918.0	SQ FT	\$30.00	\$57,540.00	\$30.00	\$57,540.00	\$35.00	\$67,130.00	\$30.00	\$57,540.00	\$30.00	\$57,540.00
11	44000164	HOT-MIX ASPHALT SURFACE REMOVAL 3 3/4"	100,318.0	SQ YD	\$4.00	\$401,272.00	\$2.50	\$250,795.00	\$2.00	\$200,636.00	\$2.55	\$255,810.90	\$3.01	\$301,957.18
12	44000200	DRIVEWAY PAVEMENT REMOVAL	110.0	SQ YD	\$7.00	\$770.00	\$10.00	\$1,100.00	\$20.00	\$2,200.00	\$15.90	\$1,749.00	\$23.90	\$2,629.00
13	44000500	COMBINATION CURB AND GUTTER REMOVAL	2,400.0	FOOT	\$6.00	\$14,400.00	\$3.75	\$9,000.00	\$6.00	\$14,400.00	\$4.00	\$9,600.00	\$3.75	\$9,000.00
14	44000600	SIDEWALK REMOVAL	6,414.0	SQ FT	\$4.00	\$25,656.00	\$1.00	\$6,414.00	\$2.00	\$12,828.00	\$0.50	\$3,207.00	\$1.00	\$6,414.00
15	44201785	CLASS D PATCHES, TYPE I, 12 INCH	512.0	SQ YD	\$40.00	\$20,480.00	\$30.00	\$15,360.00	\$25.00	\$12,800.00	\$64.85	\$33,203.20	\$30.00	\$15,360.00
16	44201789	CLASS D PATCHES, TYPE II, 12 INCH	768.0	SQ YD	\$40.00	\$30,720.00	\$30.00	\$23,040.00	\$25.00	\$19,200.00	\$54.50	\$41,856.00	\$30.00	\$23,040.00
17	44201794	CLASS D PATCHES, TYPE III, 12 INCH	2,303.0	SQ YD	\$40.00	\$92,120.00	\$30.00	\$69,090.00	\$25.00	\$57,575.00	\$46.20	\$106,398.60	\$30.00	\$69,090.00
18	44201796	CLASS D PATCHES, TYPE IV, 12 INCH	1,535.0	SQ YD	\$40.00	\$61,400.00	\$30.00	\$46,050.00	\$25.00	\$38,375.00	\$42.10	\$64,623.50	\$30.00	\$46,050.00
19	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	12.0	FOOT	\$50.00	\$600.00	\$180.00	\$2,160.00	\$85.00	\$1,020.00	\$60.00	\$720.00	\$50.00	\$600.00
20	56109210	WATER VALVES TO BE ADJUSTED	31.0	EACH	\$500.00	\$15,500.00	\$325.00	\$10,075.00	\$250.00	\$7,750.00	\$610.00	\$18,910.00	\$510.00	\$15,810.00
21	60236800	INLETS, TYPE A, TYPE 11 FRAME AND GRATE	1.0	EACH	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,400.00	\$1,400.00	\$1,650.00	\$1,650.00	\$1,100.00	\$1,100.00
22	60500060	REMOVING INLETS	2.0	EACH	\$500.00	\$1,000.00	\$200.00	\$400.00	\$250.00	\$500.00	\$150.00	\$300.00	\$100.00	\$200.00
23	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	1,200.0	FOOT	\$30.00	\$36,000.00	\$19.00	\$22,800.00	\$21.00	\$25,200.00	\$16.00	\$19,200.00	\$19.00	\$22,800.00
24	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	1,200.0	FOOT	\$30.00	\$36,000.00	\$21.00	\$25,200.00	\$24.00	\$28,800.00	\$30.00	\$36,000.00	\$21.00	\$25,200.00
25	63300575	REMOVE AND REERECT RAIL ELEMENT OF EXISTING GUARDRAIL	125.0	FOOT	\$100.00	\$12,500.00	\$25.00	\$3,125.00	\$30.00	\$3,750.00	\$25.00	\$3,125.00	\$25.00	\$3,125.00
26	67100100	MOBILIZATION	1.0	L SUM	\$50,700.00	\$50,700.00	\$140,000.00	\$140,000.00	\$160,000.00	\$160,000.00	\$431,000.00	\$431,000.00	\$185,435.00	\$185,435.00
27	70300100	SHORT TERM PAVEMENT MARKING	45,500.0	FOOT	\$0.10	\$4,550.00	\$0.01	\$455.00	\$0.01	\$455.00	\$0.01	\$455.00	\$0.01	\$455.00
28	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	1,357.0	SQ FT	\$0.10	\$135.70	\$0.01	\$13.57	\$0.01	\$13.57	\$1.00	\$1,357.00	\$0.01	\$13.57
29	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	39,563.0	FOOT	\$0.10	\$3,956.30	\$0.01	\$395.63	\$0.01	\$395.63	\$0.23	\$9,099.49	\$0.01	\$395.63

30	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	29,710.0	FOOT	\$0.10	\$2,971.00	\$0.01	\$297.10	\$0.01	\$297.10	\$0.17	\$5,050.70	\$0.01	\$297.10
31	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	2,859.0	FOOT	\$0.10	\$285.90	\$0.01	\$28.59	\$0.01	\$28.59	\$0.26	\$743.34	\$0.01	\$28.59
32	70300250	TEMPORARY PAVEMENT MARKING - LINE 8"	282.0	FOOT	\$0.10	\$28.20	\$0.01	\$2.82	\$0.01	\$2.82	\$0.50	\$141.00	\$0.01	\$2.82
33	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	4,464.0	FOOT	\$0.50	\$2,232.00	\$0.01	\$44.64	\$0.01	\$44.64	\$0.70	\$3,124.80	\$0.01	\$44.64
34	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	666.0	FOOT	\$1.00	\$666.00	\$0.01	\$6.66	\$0.01	\$6.66	\$1.00	\$666.00	\$0.01	\$6.66
35	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	11,375.0	FOOT	\$0.50	\$5,687.50	\$0.01	\$113.75	\$1.25	\$14,218.75	\$0.01	\$113.75	\$0.01	\$113.75
36	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,357.0	SQ FT	\$5.00	\$6,785.00	\$3.50	\$4,749.50	\$3.50	\$4,749.50	\$3.50	\$4,749.50	\$3.75	\$5,088.75
37	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	27,883.0	FOOT	\$0.60	\$16,729.80	\$0.50	\$13,941.50	\$0.50	\$13,941.50	\$0.50	\$13,941.50	\$0.50	\$13,941.50
38	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	4,332.0	FOOT	\$0.75	\$3,249.00	\$0.70	\$3,032.40	\$0.70	\$3,032.40	\$0.70	\$3,032.40	\$0.60	\$2,599.20
39	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	2,859.0	FOOT	\$1.00	\$2,859.00	\$0.80	\$2,287.20	\$0.80	\$2,287.20	\$0.80	\$2,287.20	\$0.75	\$2,144.25
40	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	282.0	FOOT	\$1.50	\$423.00	\$1.15	\$324.30	\$1.15	\$324.30	\$1.15	\$324.30	\$1.10	\$310.20
41	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	4,464.0	FOOT	\$2.00	\$8,928.00	\$1.75	\$7,812.00	\$1.75	\$7,812.00	\$1.75	\$7,812.00	\$1.60	\$7,142.40
42	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	666.0	FOOT	\$4.00	\$2,664.00	\$3.50	\$2,331.00	\$3.50	\$2,331.00	\$3.50	\$2,331.00	\$3.75	\$2,497.50
43	78001110	PAINT PAVEMENT MARKING - LINE 4"	11,605.0	FOOT	\$0.50	\$5,802.50	\$0.10	\$1,160.50	\$0.24	\$2,785.20	\$0.24	\$2,785.20	\$0.05	\$580.25
44	78001120	PAINT PAVEMENT MARKING - LINE 5"	26,216.0	FOOT	\$0.60	\$15,729.60	\$0.10	\$2,621.60	\$0.29	\$7,602.64	\$0.29	\$7,602.64	\$0.05	\$1,310.80
45	78100100	RAISED REFLECTIVE PAVEMENT MARKER	781.0	EACH	\$30.00	\$23,430.00	\$23.50	\$18,353.50	\$23.50	\$18,353.50	\$23.50	\$18,353.50	\$19.50	\$15,229.50
46	78200410	GUARDRAIL MARKERS, TYPE A	6.0	EACH	\$10.00	\$60.00	\$10.00	\$60.00	\$25.00	\$150.00	\$10.00	\$60.00	\$10.00	\$60.00
47	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	781.0	EACH	\$8.00	\$6,248.00	\$3.50	\$2,733.50	\$1.00	\$781.00	\$8.90	\$6,950.90	\$5.00	\$3,905.00
48	88600600	DETECTOR LOOP REPLACEMENT	3,604.0	FOOT	\$15.00	\$54,060.00	\$15.35	\$55,321.40	\$15.35	\$55,321.40	\$15.35	\$55,321.40	\$15.35	\$55,321.40
49	X0326458	PAVEMENT REPLACEMENT	35.0	SQ YD	\$250.00	\$8,750.00	\$100.05	\$3,501.75	\$90.00	\$3,150.00	\$73.60	\$2,576.00	\$30.00	\$1,050.00
50	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	2,024.0	SQ YD	\$10.00	\$20,240.00	\$7.55	\$15,281.20	\$2.00	\$4,048.00	\$7.70	\$15,584.80	\$5.20	\$10,524.80
51	X6026800	INLETS TO BE RECONSTRUCTED (SPECIAL)	5.0	EACH	\$500.00	\$2,500.00	\$1,100.00	\$5,500.00	\$1,400.00	\$7,000.00	\$1,350.00	\$6,750.00	\$700.00	\$3,500.00
52	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	204.0	EACH	\$800.00	\$163,200.00	\$600.00	\$122,400.00	\$500.00	\$102,000.00	\$720.00	\$146,880.00	\$400.00	\$81,600.00
53	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	6.0	CAL MO	\$2,000.00	\$12,000.00	\$1,000.00	\$6,000.00	\$3,000.00	\$18,000.00	\$1,000.00	\$6,000.00	\$1,000.00	\$6,000.00
54	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$88,600.00	\$88,600.00	\$25,000.00	\$25,000.00	\$391,000.00	\$391,000.00	\$46,000.00	\$46,000.00	\$54,620.00	\$54,620.00
55	X8140215	HEAVY-DUTY HANDHOLE TO BE ADJUSTED	6.0	EACH	\$500.00	\$3,000.00	\$1,685.00	\$10,110.00	\$1,685.00	\$10,110.00	\$1,685.00	\$10,110.00	\$1,685.00	\$10,110.00
56	XX006343	SEEDING (COMPLETE)	57.0	SQ YD	\$10.00	\$570.00	\$20.00	\$1,140.00	\$20.00	\$1,140.00	\$25.00	\$1,425.00	\$25.00	\$1,425.00
57	XX206400	MAILBOX POST	5.0	EACH	\$200.00	\$1,000.00	\$225.00	\$1,125.00	\$200.00	\$1,000.00	\$30.00	\$150.00	\$150.00	\$750.00
58	Z0042200	PORTLAND CEMENT CONCRETE PAVEMENT SURFACE REMOVAL	20.0	SQ YD	\$50.00	\$1,000.00	\$35.20	\$704.00	\$12.00	\$240.00	\$25.00	\$500.00	\$10.00	\$200.00
Bid Total						\$2,685,325.50		\$2,318,186.17		\$2,877,082.76		\$2,889,188.38		\$2,311,530.15

Return Bid Details

Project: Sunset Avenue Resurfacing

Section: 12-00108-05-RS

Description: Milling and Resurfacing

CPMS Pin: D-00603

Let Date: 12/18/2012

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
1	20800150	TRENCH BACKFILL	280.0	CU YD	\$25.00	\$7,000.00	\$1.00	\$50.00	\$21.50
2	40600100	BITUMINOUS MATERIALS (PRIME COAT)	30,136.0	GAL	\$1.00	\$30,136.00	\$0.01	\$0.01	\$0.01
3	40600300	AGGREGATE (PRIME COAT)	527.0	TON	\$1.00	\$527.00	\$1.00	\$1.00	\$1.00
4	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.0	TON	\$450.00	\$4,500.00	\$100.00	\$660.00	\$431.88
5	40600990	TEMPORARY RAMP	1,912.0	SQ YD	\$25.00	\$47,800.00	\$6.00	\$21.00	\$14.10
6	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	12,616.0	TON	\$55.00	\$693,880.00	\$51.00	\$65.00	\$57.83
7	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	8,576.0	TON	\$62.50	\$536,000.00	\$64.40	\$77.00	\$68.75
8	42001300	PROTECTIVE COAT	500.0	SQ YD	\$2.00	\$1,000.00	\$1.00	\$2.00	\$1.50
9	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	6,414.0	SQ FT	\$6.00	\$38,484.00	\$4.00	\$5.00	\$4.43
10	42400800	DETECTABLE WARNINGS	1,918.0	SQ FT	\$30.00	\$57,540.00	\$30.00	\$35.00	\$31.25
11	44000164	HOT-MIX ASPHALT SURFACE REMOVAL 3 3/4"	100,318.0	SQ YD	\$4.00	\$401,272.00	\$2.00	\$3.01	\$2.52
12	44000200	DRIVEWAY PAVEMENT REMOVAL	110.0	SQ YD	\$7.00	\$770.00	\$10.00	\$23.90	\$17.45
13	44000500	COMBINATION CURB AND GUTTER REMOVAL	2,400.0	FOOT	\$6.00	\$14,400.00	\$3.75	\$6.00	\$4.38
14	44000600	SIDEWALK REMOVAL	6,414.0	SQ FT	\$4.00	\$25,656.00	\$0.50	\$2.00	\$1.13

15	44201785	CLASS D PATCHES, TYPE I, 12 INCH	512.0	SQ YD	\$40.00	\$20,480.00	\$25.00	\$64.85	\$37.46
16	44201789	CLASS D PATCHES, TYPE II, 12 INCH	768.0	SQ YD	\$40.00	\$30,720.00	\$25.00	\$54.50	\$34.88
17	44201794	CLASS D PATCHES, TYPE III, 12 INCH	2,303.0	SQ YD	\$40.00	\$92,120.00	\$25.00	\$46.20	\$32.80
18	44201796	CLASS D PATCHES, TYPE IV, 12 INCH	1,535.0	SQ YD	\$40.00	\$61,400.00	\$25.00	\$42.10	\$31.78
19	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	12.0	FOOT	\$50.00	\$600.00	\$50.00	\$180.00	\$93.75
20	56109210	WATER VALVES TO BE ADJUSTED	31.0	EACH	\$500.00	\$15,500.00	\$250.00	\$610.00	\$423.75
21	60236800	INLETS, TYPE A, TYPE 11 FRAME AND GRATE	1.0	EACH	\$1,000.00	\$1,000.00	\$1,100.00	\$1,650.00	\$1,412.50
22	60500060	REMOVING INLETS	2.0	EACH	\$500.00	\$1,000.00	\$100.00	\$250.00	\$175.00
23	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	1,200.0	FOOT	\$30.00	\$36,000.00	\$16.00	\$21.00	\$18.75
24	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	1,200.0	FOOT	\$30.00	\$36,000.00	\$21.00	\$30.00	\$24.00
25	63300575	REMOVE AND REERECT RAIL ELEMENT OF EXISTING GUARDRAIL	125.0	FOOT	\$100.00	\$12,500.00	\$25.00	\$30.00	\$26.25
26	67100100	MOBILIZATION	1.0	L SUM	\$50,700.00	\$50,700.00	\$140,000.00	\$431,000.00	\$229,108.75
27	70300100	SHORT TERM PAVEMENT MARKING	45,500.0	FOOT	\$0.10	\$4,550.00	\$0.01	\$0.01	\$0.01
28	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	1,357.0	SQ FT	\$0.10	\$135.70	\$0.01	\$1.00	\$0.26
29	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	39,563.0	FOOT	\$0.10	\$3,956.30	\$0.01	\$0.23	\$0.07
30	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	29,710.0	FOOT	\$0.10	\$2,971.00	\$0.01	\$0.17	\$0.05
31	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	2,859.0	FOOT	\$0.10	\$285.90	\$0.01	\$0.26	\$0.07
32	70300250	TEMPORARY PAVEMENT MARKING - LINE 8"	282.0	FOOT	\$0.10	\$28.20	\$0.01	\$0.50	\$0.13
33	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	4,464.0	FOOT	\$0.50	\$2,232.00	\$0.01	\$0.70	\$0.18
34	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	666.0	FOOT	\$1.00	\$666.00	\$0.01	\$1.00	\$0.26
35	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	11,375.0	FOOT	\$0.50	\$5,687.50	\$0.01	\$1.25	\$0.32

36	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,357.0	SQ FT	\$5.00	\$6,785.00	\$3.50	\$3.75	\$3.56
37	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	27,883.0	FOOT	\$0.60	\$16,729.80	\$0.50	\$0.50	\$0.50
38	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	4,332.0	FOOT	\$0.75	\$3,249.00	\$0.60	\$0.70	\$0.68
39	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	2,859.0	FOOT	\$1.00	\$2,859.00	\$0.75	\$0.80	\$0.79
40	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	282.0	FOOT	\$1.50	\$423.00	\$1.10	\$1.15	\$1.14
41	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	4,464.0	FOOT	\$2.00	\$8,928.00	\$1.60	\$1.75	\$1.71
42	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	666.0	FOOT	\$4.00	\$2,664.00	\$3.50	\$3.75	\$3.56
43	78001110	PAINT PAVEMENT MARKING - LINE 4"	11,605.0	FOOT	\$0.50	\$5,802.50	\$0.05	\$0.24	\$0.16
44	78001120	PAINT PAVEMENT MARKING - LINE 5"	26,216.0	FOOT	\$0.60	\$15,729.60	\$0.05	\$0.29	\$0.18
45	78100100	RAISED REFLECTIVE PAVEMENT MARKER	781.0	EACH	\$30.00	\$23,430.00	\$19.50	\$23.50	\$22.50
46	78200410	GUARDRAIL MARKERS, TYPE A	6.0	EACH	\$10.00	\$60.00	\$10.00	\$25.00	\$13.75
47	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	781.0	EACH	\$8.00	\$6,248.00	\$1.00	\$8.90	\$4.60
48	88600600	DETECTOR LOOP REPLACEMENT	3,604.0	FOOT	\$15.00	\$54,060.00	\$15.35	\$15.35	\$15.35
49	X0326458	PAVEMENT REPLACEMENT	35.0	SQ YD	\$250.00	\$8,750.00	\$30.00	\$100.05	\$73.41
50	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	2,024.0	SQ YD	\$10.00	\$20,240.00	\$2.00	\$7.70	\$5.61
51	X6026800	INLETS TO BE RECONSTRUCTED (SPECIAL)	5.0	EACH	\$500.00	\$2,500.00	\$700.00	\$1,400.00	\$1,137.50
52	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	204.0	EACH	\$800.00	\$163,200.00	\$400.00	\$720.00	\$555.00
53	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	6.0	CAL MO	\$2,000.00	\$12,000.00	\$1,000.00	\$3,000.00	\$1,500.00
54	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$88,600.00	\$88,600.00	\$25,000.00	\$391,000.00	\$129,155.00
55	X8140215	HEAVY-DUTY HANDHOLE TO BE ADJUSTED	6.0	EACH	\$500.00	\$3,000.00	\$1,685.00	\$1,685.00	\$1,685.00
56	XX006343	SEEDING (COMPLETE)	57.0	SQ YD	\$10.00	\$570.00	\$20.00	\$25.00	\$22.50

57	XX206400	MAILBOX POST	5.0	EACH	\$200.00	\$1,000.00	\$30.00	\$225.00	\$151.25
58	Z0042200	PORTLAND CEMENT CONCRETE PAVEMENT SURFACE REMOVAL	20.0	SQ YD	\$50.00	\$1,000.00	\$10.00	\$35.20	\$20.55
Bid Total					\$2,685,325.50				